UMass CS 585, 9/28/17 in-class notes
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Log-linear form for an HMM — for handout
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Sticky-favoring model over hidden state vocab {0,1}. Factor scores are “goodness

points” are in log-scale additive form. (They’re positive, though for an HMM they would
all be negative.)

log P(y | w) = (constant) + G(y1, y2, y3)
Gly1,y2,y3) = Alyly2) + Aly2,y3) + Bi(y1) + B2(y2) + B3(y3)
Additive Viterbi

For t=1..T,
For k in {0,1},

Vilk] := max (Ve-alj] + Al k) + Bi(k))
Blk] := argmax (.. .)
J
For t=1, set Ag(anything)=0 and Vglanything]=0
Final backtrace step: take best-scoring from last Vy; follow the backpointers all the way back
" Run Viterbi and fill out the trellis with arcs like in the textbook’s HMM example.

Most probable sequence Y* = ( 0 : 0 ; D) G(y*) = 3 €
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